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PEEC 5417
Seventh Semester Examination — 2012
DIGITAL SWITCHING AND TELECOM NETWORK

Full Marks —70

Time : 3 Hours

Answer Question No. 1 which is compulsory and any five from the rest.

The figures in the right-hand margin indicate marks.

1. Answer the following questions : 2x10

(a)

(b)

()

(f)
(9)

(h)

What is the main distinguish feature of the fully electronics switching
system and the electromechanically switching system ?

How many unidirecticnal links are required in a fully connected network for
30 subscribers ?

Why an exclusion device is used in the load sharing configurations of a

" centralized SPC system ?

How is a Time division space switch different from a Time division Time
switch ? What is CCi of a basic Time Division Space Switch (non-folded)
containing 3000 inlet-outlet pairs ?

What is GOS in a Telecommunication system ? Is it same as blocking
probability ?

Which layers of OSI reference model are named link to link layer ?

What are the commands executed by the subscriber in a SPC system to
record a number and cancel a number ?

What are the services of ISDN ?
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(@)
(b)

Name the Data Network employing standards IEEE 802.3, IEEE 802.4,
IEEE 802.5 and |IEEE 802.6.

Determine the switch advantage ratio of a three stage network with N inlets
and N outlets forN=128.

Draw the s¢chematic diagram for N x N three stage space division network
and find out minimum number of switching elements for N = 800. 5

Calculate the blocking probability for above network using square switching
matrices, how can the above three stage network be non-blocking ? (5}

Exhibit the configuration of a time multiplexed space switch with M slot and
N trunks. 5

Calculate the number of trunks that can be supported on a time multiplexed
switch given that : 5

(i) 32 channels are multiplexed in each stream
(ii) control memory access time is 100ns
(iii) Bus switching & transfer time is 100 ns per transfer.

Find out the differential equation governing the dynamics of a telecom
switching system modeled as a B-D process. How is the equation modified
from a stationary B-D process ? 5

What are the models of a Loss System ? In a telephone System there are
20 servers and 100 subscribers on an average there are 10 busy servers at
any time. The Probability of all the servers being busy is 0.2. Calculate GOS
assuming : 5

(i) Erlang Traffic
(i) Engest Traffic.
Find the probability of blocking in two stage TS Switch. 5

Is TS Switch non-blocking ? Justify your answer. 5
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6. (a) Explain briefly following multiple access scheme : 5

(i) Slotted ALOHA

(i) CSMA/CD

(b) Basic topologies that are adopted for interconnecting télecom exchanges

for different traffic intensities ? 5

7. (a) Whatare the access methods used in LANS ? 5
(b) Show the frame format for a token passing ring LAN ? 5

8.  Write short notes on any two of the following : 5%2

(a) Signaling Techniques
(b) Diversity Techniques
(c) Packet & circuit switching

(d) Linkto Link Layers.
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